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Roll No………….. 
B.A- 10 (Bachelor of Art) 

Second Year, Examiation 2012 
PS-01 

Basis of political science 
jktuhfr foKku ds vk/kkj  

 
 
Note- The Question paper is divided into three section A,B,and C . 
uksV& ;g iz'u i= *d*]*[k* vkSj *x* rhu [k.Mksa esa foHkkftr gSA izR;sd [k.M ds 
funsZ”kkuqlkj iz'uksa ds mRrj nsaA  

 
Section-A 
[k.M&d 

(Long Answer Question) 
¼nh?kZ mRrjh; iz”u½ 

 
Note- Answer any two question.Each Question carries 15 marks. 

15х2═ 30 

fdUgh nks iz”uksa ds mRrj nhft;sA izR;sd iz'u 15 vadksa dk gSA  
 

  
1. Discuss the differences Traditional and Modern political science. 

ijEijkxr o vk/kqfud jktuhfr foKku esa vUrj crkbZ,\ 
 

2. “Political science are vulgar when not liberalized by history 
fades into mere literature of it loses sight of its relation to 
Political Science”.Discuss. 
jktuhfr foKku dks ;fn bfrgkl ds v/;;u ls ifj’d`r u fd;k tk; rks ;g 
vf”k’V cu tkrh gS&”khysA bl dFku dh foospuk dhft;s \ 
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    3. Define Democracy and examine its merits and demerits. 
iztkra= dh ifjHkk’kk nhft;s vkSj blds xq.k&voxq.kksa dk ijh{k.k dhft;s\ 
 

    4. Write the role and importance of the political party. 
 jktuhfrd nyksa dh Hkwfedk o egRo fyf[k;s\ 

 
 

Section-B 
[k.M&[k 

(Short Answer Question) 
¼y?kq mRrjh; iz”u½ 

 
Note- Answer any four question.Each Question carries 5 marks. 

4х5═ 20 

fdUgh pkj iz”uksa ds mRrj nhft;sA izR;sd iz'u 5 vadksa dk gSA  
 

1. Discuss the causes of rise of Behaviouralism. 
O;ogkjokn ds mn; ds dkj.kksa dk foospu dhft;s\ 
 

2. Write any three characteristics of Justice. 
U;k; dh dksbZ rhu fo”ks’krk,a crkb;s\  
 

3.Discuss the meaning of Democracy and write its  
    definitions. 

yksdra= dk vFkZ crkrs gq, mldh ifjHkk’kk,a fyf[k;s\  
 

4. What is the meaning of franchise. 
 erkf/kdkj dk D;k vFkZ gS\ 
 
 

5. Write a note on demerits of dictatorship. 
rkuk”kkgh ds nks’kksa ij ,d fVIi.kh fy[kks\  
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6. What is the importance of political parties in  
    democracy. 

yksdra= esa jktuhfrd nyksa dk D;k egRo gS\  
 

7. Are you in favour of Socialism. Give any two  
   reasons. 

D;k vki lektokn ds i{k esa gSa dksbZ nks dkj.k fyf[k;s\ 
 

8. Explain the importance of Liberalism. 
mnkjokn dk egRo crkb;s\ 
 

Section-C 
[k.M&x 

(Objective Question) 
¼oLrqfu’B iz”u½ 

 
Note- Answer all questions.Each Question carries 1 mark. 

1х10═ 10 

lHkh iz”uksa ds mRrj nhft;sA izR;sd iz'u 1 vad dk gSA  
 
Write True/False against the following: 
fuEu ds lkeus lR;@vlR; fyf[k;s% 
 
1.Economic conditions decides the structure of  
   government.       True/False 
  vkfFkZd ifjfLFkfr;kW ljdkj ds Lo:Ik dks fu/kkZfjr djrh gSaA  
         lR;@vlR; 
2. India is a liberal democratic state.       True/False 
   Hkkjr ,d mnkj yksdrkaf=d jkT; gSA  
         lR;@vlR; 
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3. ‘The ruling class’ was written by Parreto.  
                                                                  True/False 
   *n :fyax Dykl* iSjsVks }kjk fyf[kr xzUFk gSA  
         lR;@vlR; 
 
4. In India Representatives of Lok Sabha are not  
    elected by direct Electoral system.          True/False 
   Hkkjr esa yksdlHkk ds fy;s izfrfuf/k;ksa dk pquko izR;{k fuokZpu       
   iz.kkyh }kjk ugha fd;k tkrk gSA  
         lR;@vlR;  
 
5. Pressure groups are like political parties.  
                                                                     True/False 
   ncko lewg jktuhfrd ny tSls gh gksrs gSaA  
         lR;@vlR; 
 
Choose the correct alternative 
lgh fodYi pqfu,A 
 
6. ‘It is better to be wrong than vague’ it was believed by- 

A. Pluralistic 
B. Behavioralistic 
C. Post Behavioralistic 
D. Liberalistic 

 
*vLi’V gksus ls xyr gksuk vPNk gS *A ;g /kkj.kk fuEu esa ls fdldh gS & 

A. cgqyokfn;ksa dh  
B. O;ogkjokfn;ksa dh  
C. mRrj&O;ogkjokfn;ksa dh  
D. mnkjokfn;ksa dh  
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7. Where was Social Science Research Council  
    constituted  

A. America 
B. India 
C. Russia 
D. Japan 

 
lekt foKku “kks/k ifj’kn dk xBu dgkW fd;k x;k& 

A. vesfjdk 
B. Hkkjr  
C. :l  
D. Tkkiku  

8.Who said ‘socialism, in short is like a hat that has lost its shape. 
A. T.H. Green 
B. C.E.M. Joad 
C. Barker 
D. J.S.Gill 

  
fdlus dgk lektokn ,d ,slh Vksi ds leku gS ftlus viuk vkdkj [kks fn;k gSA 
;g dFku fdldk gS& 
 

A. Vh-,p-xzhu 
B. lh-bZ-,e-tksM  
C. ckdZj 
D. ts-,l-fey 

9. Who among the following  is not a liberalism  
    Thinker 

A. Karl Marx 
B. John Locke 
C. Bentham 
D. Adam Smith 
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fuEu esa dkSu mnkjokn dk fopkjd ugha gS& 
A. dkyZ ekDlZ 
B. tkWu ykd 
C. csUFke 
D. ,Me fLeFk  

 
 
10. Party system is necessary - 

A. For Democracy 
B. For Monarchy 
C. For Oligarchy 
D. For Dictatorship 
 
nyh; iz.kkyh vko”;d gS & 
 

A. yksdra= ds fy;s  
B. jktra= ds fy;s  
C. dqyhura= ds fy;s  
D. vf/kuk;dra= ds fy;s  

 
 

 


